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Trigonometri.

cos(z +y) = cos(x) cos(y) — sin(z) sin(y) sin(z) sin(y) = %(Cos(:r —y) —cos(z +y))

sin(z + y) = sin(x) cos(y) + cos(x) sin(y) sin(z) cos(y) — %(sin(x —y) +sin(z +y))

cos(x) cos(y) = %(cos(x —y) + cos(x + y)) tan(z) + tan(y)

tan(z +y) = 1 — tan(z) tan(y)
Maclaurinutvecklingar
e’ = gg;; = 1+x+§+§+...
sin = g( 1kt (23;%_1)! = z- %? + %T a:?j +
cos T = ki;o(—l)k(;:! = 1—2—?4—2—?—%?—1—...
(14z)* = go(z)xk - 1+ax+%x2+... ;e < 1, <Z>=a<a;(1;im1()off+l)
In(l+2z) = g(—l)’“‘lif = x—%2+%3—%4+... , —l<zx<1
arctanz = i(—l)k_lgk%%ll = x—%?)—i—g—x—;—i—... , x| <1



